¥ fFm & Rm ¥ dvifers s A F1 g Hfgl
A7 et e (3w 150 W=t # Aifvrg)

Explain the role of geographical factors towards the development of Ancient India.
(Answer in 150 words) 10

4, e M iR Y ik § frgn ok gk ¥ wfa @ § w0 s ar?
(= 150 wi==t & difom)

What was the difference between Mahatma Gandhi and Rabindranath Tagore in
their approach towards education and nationalism? (Answer in 150 words) 10

—3. faa ¥ fiftm 2§ o3 ¥ e ¥ B 99 aifvE-enfifes wurEl @l 3SR R
(3| 150 wi=t | 4ifs)

Bring out the socio-economic effects of the introduction of railways in different
countries of the world. (Answer in 150 words) 10

;/Wmmﬁﬁimgmmmmﬁ%wmﬁﬁﬁhmml
(IW 150 =31 & 4ifm)

Discuss the consequences of climate change on the food security in tropical
countries. (Answer in 150 words) 10

—57 i faw S @ F g 6 e o g F g A g R

(W 150 w=3t # difvw)
Why is the world today confronted with a crisis of availability of and access to

freshwater resources? (Answer in 150 wor ds) 10

6, faié %& w1a &7 3 g & o T o & W Pwin = w@ 8 (I 150 7=t # ifv)

How are the fjords formed? Why do they constitute some of the

most pi
areas of the world? Picturesque

(Answer in 150 words) 10

//zﬁw-w&nwmwﬂaﬁ ‘g’ (ﬁ)ﬂﬂm%?ﬁfﬁwmmqmm%
: CERED
RS AFER F 5 gwifaa e 27 (5% 150 W=t # Hfv)

Why is the South-West Monsoon called ‘Purvaiya’ (easterly) i 4

b fEeiie in Bt :

has this directional seasonal wind system influenced t;'xe, Culifif‘:lr Region? How
region? ethos of the

(Answer in 150 words) 10
P o TR B, s e e v s o

(W 150
Do you think marriage as a sacrament is loosing its value in Mod Wﬁﬁﬁq)
ern India?

Swer in 150 Words) 10
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(I 150 st 3 #ife)
in Indian SDCicty.
(Answer in 150 words)

ﬁ%mmmmﬁwm.
(37 150 7=t # #ifomg)

ss its impact on the
(Answer in 150 words)

Child cuddling ; .
: 8 18 now being replaced ; .
socialization of children & feplaced by mobile phones. Discu

.

F ﬁ;ﬂﬁﬁnuﬁﬁmmwﬁ?wmm%ﬁmﬁawmmmﬁ
wafm &7 (3 250 W=t # €ifvm)

of Vedic society and religion? Do you think some of the
in Indian society? (Answer in 250 words)

What are the main features
features are still prevailing

{mm%%%&@a@%wmﬂ?aaﬂﬁmﬁﬁmmﬂﬁ'

wwifaa e an? (3 250 wi=1 # 4ifdm)

What were the major technological changes introduced during the Sultanate period?
How did those technological changes influence the Indian society?

(Answer in 250 words)

13- ¥Ra # siufEfie wmee 3 snfiafRet = %8 wwifke fen ok siofRfe sefien & vy sfawd

wiafean w0 4?7 (3| 250 w=t 7 <ifom)

How did the colonial rule affect the tribals in India and what was the tribal response
to the colonial oppression? (Answer in 250 words)

< qAE grua game W e fifve oiv @ 8 3wt '@ f Y H R w
f{z‘/::mm, (I 250 7=t § i)

Comment on the resource potentials of the long coastline of India and highlight the
t:r:us of natural hazard preparedness in these areas. (Answer in 250 words)
s

mmﬁﬁm%mmmﬁmmmﬁﬁmml WRA %
@;ﬁﬁwm%mmmml (I 250 w41 & 4ifvr)
ss the factors responsible for diversity of natural vegetation in

gnifi ildli ies i i i f India.
i f wildlife sanctuaries in rain forest regions o
e (Answer in 250 words)

Identify and discu_
India. Assess the si

mﬁﬁﬁmm%mmaﬁﬁﬁmaﬁgw (3w 250 T=1 3 dif)

;.6./sma " clopment fail to keep pace with economic development in India?
Why did human develop (Answer in 250 words)

10

10

15

15

15

15

15

15
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17 1960 % %% # Y% W sy 3 IV | RO AT
» R T 3 e gy e fafes & &9 H 39
> (3w 250 ¥t # Af)

From being net food importer in 1960s, India has emerged as a net food exporter to
the world. Provide reasons. (Answer in 250 words) 15

%Wﬂmﬂﬁm@mnﬂaﬁﬁmsﬂmmmmmméwt?

(3w 250 w=at ¥ difem)
Does urbanization lead to more Segregation and/or marginalization of the poor
in Indian metropolises? ' (Answer in 250 words) 15
/wﬁmmmﬁmmeﬁaﬁm (3 250 3=t )
Why is caste identity in India both fluid and static? (Answer in 250 words) 15

meﬁmmm-mﬁm#mﬁmmi
(3W 250 ==t # Af)

Discuss the impact of post-liberal economy on ethnic identity and communalism.
(Answer in 250 words) 15
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